0907231 Digital Logic First Exam Spring 2017

6 Problems, 4 Pages 60 Minutes March16"' 12; 00 PM!
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Problem 1: Solve the following short questions. (11 points) .
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53 Using MMLMM prove the following relational statement. Show your steps clearly.
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Problem 3. Give -
: Wiy . imi ion o
a8 a Product of Sumy h;a]; Map of function F (4, B, ¢ ,D), write the optimized Boolean express

(2 points)
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Problem 4: Consider the following K-

map for function F (4, B, C, D),
its prime implicants and determine whic

identify the expressions of all
h are essential.
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Problem 5: Given the truth table of function F(X,Y,Z), implement function £ using tri-state buffers
and inverters only. (2 points)

X Y Z F
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Problem 6: Fill-in the truth table for the following circuit. 2 points@
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